y éha’pter 1 Number skills

All Multiple Choice -

1

What is 1232 x 39
A 1232

B 2230

C 2464

D 3696

What is18 +4 x (10 3)?

A 18
B 28
C 32
D 46

What is the highest common factor of
20 and 407

A 2
B 4
C 10

D 20

What are the factors of 127

A 1,2,3,4,6,12
B 1,2,4,12, 24, 36
C 1,2,4,8,12,24
D 1,23,4,5,

What is the Iowest common multipie of

11 and 22?
11
20
22
44

Caowpx

What is the square root of 817

gow>
© <o

“Name:

10

11

T Ow

vaw

What 18 twelve squared equwalent to?
12 . :
36

64

144

What are the first 4 multiples of 7?
7,14, 21,28 ‘
»7,8,9
,21,35, 42
2,34

T it B
A"

| What is the approxnnate answer fo
14203 + 237 ' :

A 150
B 170
C 183
D 200

. What is the approximate answet to

83243 x 1887

A 8000000

B 15808000
C 16 000 000
D 15649684

What does = + 2. equal?
11 11

A S

11

B &

T2
c &

11

p B

)



12

13

14

15

16

What does the division, 6 1.2
: 5 10
equal?
A 4
'50
B. 8o
-
C 6
, 50
D 62)-

35

The conversion of 4%— to a decimal '

correct to 2 decimal places i is:

A 0.66
B 433
C 466

D 467

The conversion of 0.8 to a fraction is:

The answer to 5.73 — 0.08 is:
A 493

B 5.65
C 571
D 632

Evaluate 78,34 x 2.1, The answer is:

A 8044
B 156.44
C 164.514

D 164514

17 The answer to-
'—:- of300+(32+8)+9~-21s:

A 24
B 50
- C 57 -
D 59

18 Which of these isa true. number

sentence?

A 50-4x(6+2)-7=11
B (50-4)x6+2-7=11
C S0-(@x6)+2-7=11
D 50-4x6+@2-7)=11

19 Xenwentto the fruit market and
bought:
3kg of apples at $1. 30 per kg
800g of peas at $2.90 per kg
1.5kg of oranges at $0.89 per kg

The total cost of the iteins are;
A $375

B - $4.87

C $5.89

D "$9.06

20 Kate eats % ‘of her apple now and % of

the apple after dinner. What fraction is .

- left over?
A L
7
B 2
7
c 32
7
p %
7




Ken wants to share his 24 toys between 25 lam an improperl fraction.
his 3 friends. Each friend will receive: My numerator is a multiple of 11.
A 3toys : - My denominator is a prime number.
B 8toys A The sum of the numerator and the
C 10toys ' : denominator is 29.
D 12toys . What fraction am I?
A U
.18
Jon and Kate eat % of a chocolate cake. " B 22
' 7
They decide to share the remainder with 18
their mum and dad. What fraction will , C Pl
each parent get? :
_ 22
> _ 11
p 1 IR
16 ' 26  The number 1 is:
C 35 : ' ' A aprime number
16 B acomposite number
D 8 C amultiple of 6
10 D afactor of 13
“Peter sold 0.82 of his cap collection. 27 The num{_)'er 14 is:
What fraction is this? A aprimenumber
82 B acomposite number
A 100 C  amultiple of 28
8 D afactorof 2
100
c 32 ] 28 Whatis 167 8%
10 : A 192
b 82 | B 64
100 : C 16
D 8
In the previous question, Peter had 50 - _
caps to begin with. How many caps - 29  Which of the following is a proper
does he still have? = : , fraction?
A 6 -5
B 7 A 3
C 8 3
B =
D 9 3
c B
-5
D 742




30

Find E of 1of 6.
4 2 ’
A 9

B 4
c 2L
4
D 7l
: 9

31

o A

Sam ate % of his pizza for lunch and % ‘

of the remainder for afternoon tea. What 7

fraction of the original pizza was left
over? : o

A

fes]
S |- W




K ..owwuwaw 1 Number skills
All Multiple Choice

1 gﬁsﬁmxmf
1232 -
m 2230
C 2464

Y@ 3696

2 Saﬁmixao 3
18
m 28. : .
32 g .

- C
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w ‘What is the Emwnmﬁ copumon mmaon of
20 and 407

A 2

mgmﬂwﬁw&oﬁnmﬂoogon Hﬁm@moom
11 and mw.» :
- A 11
B 2
VO =

D 44

¢ What is the square 1o0f of-817.

11

" Narre::

A 2
B 36

x@ mf

What are the first 4 Eﬁuﬁam of 72

,\@ 7,14,21,28
B 1,78
21,35 42
234"

tihet)

=2

r
cd

ga
=

‘9 ﬂ&mﬁ is the mgucgﬁn mnmﬂﬂ. to

ot

4203+ 237

10 What is the mu?oﬁamﬁ answet to

83243 x 1887
A 8000000

15 808 000
16 000 000 .
15 649 684 Fxod-

smgonm
Dy 8
. @.ﬁ
B

M= R

m+m

7 ﬁnuﬂ is twelve mmnﬁom omﬁénﬁ to?

omnm_z

L dspﬁ does the &SﬁoP mww + .Mm

. The conversion of ?Mn\. toa am&uﬁ&

* comrect to 2 decimal places i is:
A 066

\@\ﬁm

4.66

@ 4.67

14  The conversion of 0.8 to a fraction is:

g

100

8

1000

4

C —_
50

® ;

A

B

15  The answerto 5.73 —0.08 is;
A 493
/B 565
Cc 57
Db 632

16 Evaluate 78.34 x 2.1. The m.bm&nu is:

A 8044 -
B 15644
YO 164514
D 164514 -

‘17 .H.wo anSWer 8
2 2Wo
% of 300+ (32+8)+9~ wa

2% -
"50

57 -
59

uéw > o

18 dsanr om Eomammnaa EH&S
sentence?

/E 50-4x(6%2)-7511
B (502%x6+2-7=11
C 30-@fh+2-7=11
D 50-4xé+@-7=11

19  Kenwent to the fruit Bﬁwﬁ and |
“bought:
3keg of apples at 3 80 per kg
800g of peas at $2.90 per kg
Huwm of i onEma at ﬁo 8% ﬁou wm

. The total 8& of the items ate:
A $3.75
B - $4.87 ' .

$5.89 e

/D $9.06

20 gae eats W of ber apple now and .uh of
the apple after dizmer. What b,monob is.

left over?
A

B

cC

VE)
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21 Een wants to share his 24 toys cngoou © 25 1 anmi2n improper fraction. o Find 7 of 2 of 6. Sam ate m om his pizza me.. Tunch and
Hm 3 friends. Each friend will Hooﬂﬁ My mmmerator is a multiple of 11. A 0 A of the remainder for mﬁuﬁooﬂ tea. dﬁﬁ _
3 toys - My denominator is a prime mimber, . B 4 , fraction of the onmE& wﬁwm wasleft -
.\ @ § toys The sum of the numerator and the . Cq - Gver?
. C  10toys . degiontinator is 29. . . /O 25 1 R A
D 12ty .5&588@% T L A e i@ :
: : 1 .3 U 2 S :
- . HH - . b 7= -3
A o . © 9 0 1
. . . .o . : ) 5
22 - , d . i
qoﬁmﬁawﬁooﬁwﬂmgogﬁﬂoﬁw@. q .\@ W . . ! \@\ 2 ks W\w
They decide to share the remainder with 18 3 ) Ty
their mum and dad. Whet fraction Q,E c el L _ Do -5
each parent get? : S : .
a B . Ty K
-3 : o . S 11 S
’ H% ) na dpn ”BH&S 15
. =2 . ' ' . prime rinmber
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D 10 : /\ 0 afactorof 13
23 Peter sold 0.82 of his cap collection. , 27  The number 14 is:
What fraction is this? aprime number
mm i a composite mumber: .
,\® 100 ) . C '~ amultiple of 28 I
2 ’ . b afactorof2 :
B = ) .
100 ¢ : . . : :
c & . 28 Whatis16*-g2°% - : : : : _
10 D 192 - _ : : :
p &2 . B . 64 S , L _
100 ¢ 16 ..
) : D 8
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C 8
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Number skills

Name:” - : §  UsoS of the Following bactioss o make a frwe
. o L murmber sentence. IS N \ . S
Non-calculator questions A ' ’ - P 23 7 23 __uM /Mv'“w - .mU H S .
. . \ L : . . W m Ml% /»#Mmu c | .
, . — 224 - . . . . K
1 Find an approximate answer to the following. 2 c7 24 - .o : . o
27243072 +36+82371 "33 . . . T -, _
: . B2 37t ,\ o : : ;
, A W . . 7 .25 ' ' !
RO LI 8 5 )58 | - : . m&ﬁﬂom.w._..m.
2 The weather forecast predicted that oveér the . 7o o
sext 11 months it would r2in 17 mm per month. . oo . I g2
Approximately how mmch rain might fall? . ' —_— C . . ’ = ,x@r = ....W!.m.vln. o 3 .\
/o S T RS TET S
187 mm B ) T ’
; . ' - [ 7
3 . -Jame eats W of her pizza for lunch and ,M., for - | =
b dinner. What amount is left over? : . )
2 .
xp i f .
, 8 . i : Wi
,\ 3 8 . o b2 . ; -
@ 3 ‘What mixed numeral, when multiplied E/N.mn. . .
4 S . o
c 3 gives a result of :
D = . . :
8 e PR
. g ° 5
4 Tsthe following statement true or falsé? Fa lS.e, :
u@r _ M_w 241 . X
,H@D H.m . True,
S . —— S . 9 3. . :
5 Whatmight be the missing digits? . If Al subtracted from a niumber to give a
Jﬂ|+r+|n l![ v Hnm&&m‘éwﬁw&oﬁgmﬁ
o 12 , © 3 .

10 Iwo identical fractions add fo give . What

“_ XP‘ fven]
3" =2 7%
might the 2 fractions be? 1 .\ . > ﬁn




Numnber skills . _A _ x nw ) Name: .
Non-caleulator questions MN\mb
1 Whatare the missing numbers?

E. @

e
+@.w._ w,\\

7

" (b) Write all the factors of 15. _

(&) 'Wiits all the factors of 12 _\u.l\ ww [T bR

h
© Write all the EEou mmoﬁcﬂm of 12 and _w\

15, &€,
(d) 'Wirite the highest SEth wmaon of 12
and 15. %, .\ : :

s

“ e p]

poe
et

Ll £

2 ‘What numbers could be mmmon t0 427 to make it
divisible by 10? :

Qﬁmwommwzn moFﬂoam 2, _./uu _\\ ,\

From the list of mumbers

‘Hpmamemeo“EHmHm

(=) gmﬁ&aﬁ.&ﬂhwﬁ of 2 Q..L..Ru 4G 1o __N.. >\

(b)  write all the multiples 6f3 3, &, ;13 o
(¢) write ths cominon multiples of 2 dnd 3 g ;| u.‘\
(@ write the lowest ¢ common Eﬁnﬁn of

.mBam @.\

Bl %

[ ;

A EE&R is divided by 6 and the RE»H%H is-
3. What HEmE the rivmber.be?

Give 2 possible sclutions. 29 J T{uv .X\

~tn

10

méﬁs e Foliowing.
26 10— L
+&.§ mx%u 1= 98X
¢ad-l = 5 .3

4 What could the missmg numbers be?
Nmu 9.1 4

- Mm‘\ ' PV

135 .

5 H,E all mﬁ Hmo.sam of36.°

Z,3.4, @Zmlm\wm.\_\

Use oumﬂ. of ownamﬁoum to calculate the -

mo o w@w‘\ 154
7

7 Use ordér of operations to caleulate the

following, 12
(12~ mmwv (41-32+3) \_.@\,v

wa:w\ 25
kS5

@O




